Fili in the foilowing identities.

[a] POWER REDUCING IDENTITY: [b]
sin’ x= | —condx
2
[c] PYTHAGOREAN IDENTITY: [d}

tan2x= .SCCz')( — '

SCORE: __ /14PTS

HALF ANGLE IDENTITY:

COSTX= r l+Co8 %
2

NEGATIVE ANGLE IDENTITY:
sec(—x)= sec ¥

[e] DIFFERENCE OF ANGLES IDENTITY: [f] SUM OF ANGLES IDENTITY:
tan(x — y) = oun y e cos(x+y) = @Sstj ——va.s‘w\-‘j
[P T e “'W\j
[g]  DOUBLE ANGLE IDENTITY: COS2X = (oSEX —3m™Y 2 cotix—]) 1= 25mEX
S y

WRITE ALL 3 VERSIONS|

7

If sinx = -77 and T <x < 37" , Tind the values of the following expressions.

SCORE: /30 PES

Write cach final answer as a single fraction in simplest form, including rationalizing the denominator,

[a]  tanix = _Shx [b]
| +cos %
=2 4
g 1
V+—2 4

] tan2x = 2daeaw

l"‘!%-ﬂa'x
= 2(%
|\ - &Y
= 207
g = 2[5

sin(arctan(—3) — x)

+
31t cos x — cos Esimx

)
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Prove the identity sec(—f) ~ cos(—7) — csc(—#) +sin(—¢) +sin ¢ tan(—r) = cos £ cot £ . SCORE: /14 PTS
= Sec,JC -“-cac::asl‘t + C/Sct -5 Fnt —_ S\m‘t —J—aﬂ’t
= ¢ —wost - —smb — smtsnt
o> S'ﬁn‘t ——-—CUS T
* -—-__._"—-_ .
CoS t - s m’t cCoS T
= st et s
t sy’V’v ‘t S t
- ot 2= e Cos‘t (j.‘)'i-t
.SYVL-t
Rewrite cos” x using only the first powers of cosine (and constants and the 4 basic arithmetic operations). SCORE: /14 PTS

Simplify your final answer, which must NOT be in factored form, and must NOT involve any other trigenometric functions.

costx = osTXY

AN
=5

|+ 2cos2x+ @S?—X

v
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23 L ps 2x i ) -cos Y

P

~ sl cos 2x FeosHx
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yat
\y 2 I |+ cosdx
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Solve the equation 6—3costx=5(1—-costx). _ SCORE;: /14 PTS
' ‘ A
bL-Z2cos %= 5- Bees 5
| = '*Zc,os'!?x
Cos B X = -%
Jb:xi %*Zr\ﬂ oY 3)"2V’/‘ }né}'z}_l
x= &, Oy @ﬂ.,«-——z‘?fPOmT ne?
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Solve the equation 3cos2x+7 =7(1 —sin x) algebraically. |
S22 s YT = T g1
D = b SV X ~7S;h>< -3

"

P

SCORE: /14 PTS

= C% SJY\:%+]>C2$M)<" g)

ST = —-Ji oR %"/

ReF micE® S g = 0.3398

AW @3) Q")

¥ = 7T +O28 277 = DANG 25
ore.

X = 27~ 03298+ 2T 2 54438+ 2




